PRINT your name:

1. The power series i (x/ 2)2" =1+ x? + x! + has a radius of convergence equal to 2
ep L2l 42165 T senee '

Find its interval of convergence. Fully justify your answer.
SWCE THE RADIVS of [CONUERGENCE (S KNowN TP
BE 2 (we coUuLD VSE THE RATIO TES TO GET'WIS))

WE KopwW THE  BERIES CoNVERGES  FOR  _Q<xd)
WE musT CHECK ¥ =2 rRwWD X= 72.

X'—'—'Z sSeries 1% 2 -—1—4-_—';,‘1 WE Can DETER MIVE Convers
—_— - °
WTH THE IVTEG RAresr OR CompARLSOH-
Tote COVERGEVTP-SERIES, WM P=2 5 Tim < 5 SINE 252
CONVERGE=, SO0 TOES 27{51{

L
X==2 series 5 S €0 swee n'2(+( CoU B4t An0 )%TZI*W:Z}

n2+( . ES TEST.
= AL SE7
_ NGES . = THE AU —
SERIES ComVE Or. V& TIOTERVAL (S Ye[-2,2]
oo 2
2. Does the infinite series Z nfn——n_:fi converge or diverge? Fully justify your answer.
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